i
I
iy
Tl
P=ai
i

1. ¥4
4 R T EERIR)F R o 2 5
BT AT tehiE) KRB E T E

2. EHEAR

1) FHEI4 ) KRV ST AR
2) JBATHIM 268 H H &% 74 445 2H

E S THE12H25H

3) WA
ASEHIE, BIRTHAEHICET 5 HIOCHIET 5 b0 Th 5.

4) EBNE
3R AETE S 13, 4 MR R 1 20 oD R 1 5K

-1 - Etzz@y  AbkEt 5w R



*ﬁ
AN

HN

Tl
>

=
=

¥WA | BT AERE) TR 2 o 2 65 ER W 3
H H FEHE AR
HA - T/ - FE5 B B & 4 %A O ER
FEYE S X 1 2,735, 700
FEVE S = 1 2,735, 700
3 Mk S = 1 1,181,160 | 3 ffkELUESIHI &
2 AR
KOAE X E D 0, (& £
FEYE SRR
2 AR
) -MiER &
3R FEYE S
2 AR
KOAE R E D 0, (& £
FEYE SRR
2 AR
27—~ MItEx &
3 MR S &
2
KONEHRE D O, EE 2
FEYE S
2
) - Mtk &
4 R FEE S X 1 1,554,540 | 4 fRIEHE S
13
ROKERERE 22 L, (A £ 720
4 R FENE S
13
ROKERERE 22 L, (A £ 720
4 R FENE S
13 AR
KONEHERE 2 L R E E 20
P H & X 1 7,062, 546

717

B naa$ii |

B Aok R



= R
B RS
(%L | A7 FEEREEEEEE O 2 £ ER HEER
H H HE
TEHA - LfE - R =AY VA # & A OB R
IR ISR & =X 7,062, 546
SR A A oy 7,062,546 | UAV L —H &
(0.038) 1 (km2) =
UAV L—WHl&
(0.058) 1 (km2) =
UAV L—WHl&
0.07 )1 (km2) =
Iim = 265, 450
bS] = 265, 450
e = 265,450 | ¥TAY
1 =
[ERETES = = 163, 037
[ERS 3 =X 163, 037
Vi eS¢ =X 44,037 | ¥ (FEE - fE5RE)
1 =
ATy 2 119,000 | &-FRR A IER T
1 =
Bt E g = 18, 582
Hf s By =X 18, 582
R E B = 18,582 | REMIEE
1 =
(X3 Re = 10, 245, 315
EEERIE X 6, 744, 685
9 - EAms  Atketh 5 E =



(%L | A7 FEEREEEEEE O 2 £ ER BB
H H ik Fey
TEHA - LfE - R ==V # & A Wl B N R

At =X 6, 744, 685
W R ZE M oy 16, 990, 000
Iim = 135, 420

il GREFED) = 135, 420

2N BR Rl SR SV ERK: = 135, 420 | ZABHAS B AL AERL
1 e

EEFAM (2 OMFEMmER <) = 135, 420
& DAt AT = 72,923
— i B = 111, 657
e S =X 320, 000
e S =X 17, 310, 000

=R oS KN o723 S



